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a—F fn itk | PBERR (kg) %R () Eii o Sl PE (HAL)
Y3002 =4 (&£ 3 4,504 1, 620 1,620 702 | BW 3kg
Y3004 &5 ZF 51 (&) 15 7, 290 486 486 486 | BN 15kg
31200 [ 972 65 65 65| BN 155K
33810 HME 972 49 49 49 B 2043
Y3015 7 X B 194 16 16 16| BW 1251
31700 F XY 80 5,292 756 648 594 BN 84— A
31800 1EFHNAK 17 7, 398 86 86 81| BMW YES
31900 A 23 2, 063 119 86 76 | BN 23kg
36800 5o X 15 10 6,615 810 540 540 | BN 10kg
34400 k< k 40 16, 351 497 324 324 BN 40kg
34270 Ry ¥ —= 1,312 32 32 22 | B 4T
35220 X A& RHT 302 756 756 756 | 5574 Okg
35303 A FwTEZAED 26 5,816 238 238 162 | BN 26kg
Y3026 Afy7 FEZAE D (FE) 7 4,212 648 648 648 | BN Tkg
Y3115 |EX AL D 3 784 238 238 238 | BN 3kg
36200 fH#nsE 115 25,110 270 216 162 | B™H 115kg
36260 (2L w7=n 300 75, 600 2,700 2, 700 2,160 | BN 3047 — A
36600 7-FhE 60 3,024 65 43 43| Bm 60kg
33410 Yr=—1L & 2 1,512 92 38 38 BN 271&
Y3017 E& Y 2,484 864 864 756 | B 3kg
Y3018 T H3 44| 6, 539 151 151 130 | B 443K
43900 U 15 11, 664 270 216 216 | BN 498y 7
46108 ST DNEE 14 12, 344 356 248 140 | B 4678y 7
71011 A7 L —% 25, 164 65 27 22 1 BN 5907
71050 &fa® 691 17 17 17 BH 4074
71070 7Y =7 7,290 22 16 G =0 3904
53456 7= Aol 5 1,485|  324| 324 270 | B M 5kg
39870 D 5 2, 160 432 432 432 | BN 5kg
Y5010 obhsE () 18 8, 127 540 432 356 | BN 18kg ]
30100 7FUN T A B |2L 20 1,944 97 97 97 | ERE 204 |
30300 A% 130 13, 608 1,188 1, 080 864 | IS 137 —2A
30300 A% 2L 30 6, 156 2, 052 2, 052 2,052 |FEVR B 37— A
31100 H3E 120 5, 454 918 648 648 |FEE B 84—
33500 T 3 L 1 259 22 22 22 f& 1248
33703 HH 1 297 59 59 59 | #& i 54%
33810 AR 4 1,728 86| 86 86 | B2 18 B 208
Y5005 4A7KEAN 1,534 1,534 1,534 1,534 Koy 1r—2=
31700 F oy 170 11,016 648 648 648 IR 5 1775 —% |
31800 (F 5 MAE . i 3, 888 97| 97 9T ERE 4088
31900 X 2,268 173 119 119 RS 183 (500¢g)
31930 ~hE 1, 296 43 43 43| K%y 3048




B, | e Bk ®A
a—F fh Fik | FERR (kg) &% () i S P (BAi7)
32800 (25 5 2,138 54 39 39 | B Ig 505
34300 729 30 11, 286 1,944 1,836 1,836 HeA 64 — A
34400 Rk T 14 8, 554 194 194 162 |EEK 485
34400 k= b L 12 4,212 1, 404 1, 404 1,404 | EIR B 37—
34400 k< b B 8 2,592 1,296 1,296 1,296 | REA 24— A
34460 I =L F & 10 8,165 173 173 167 RS 48,3y 7
34460 I =L F & M 5 4, 147 173 173 173 | RS 2432 7
34100 #AJIK 55 18, 814 76 65 65 | = IR 27648
34100 L 45 12, 204 1, 404 1, 404 1,296 RERE 94—
34100 /K B 20 3, 024 756 756 756 |FEIR B 44%
34500 B—~ 30 12, 798 86 86 81 | 'EIFf 1504%
34571 ST U A () 2l 1,080 108 108 108 | 8 [E 1013
34572 RFVUH () 2 1, 080 108 108 108 | &= 101&
36200 A 3L 100 19, 440 1,944 1, 944 1, 944 | K% 104 — &
36600 7-EnE LK 80 6,912 1,836 1, 836 1, 620 | dtyEE 4r—2A
33420 Y —rU—T L&A L 3 81 5 5 5 @[ 15
33600 StV 1 54 11 11 11 | %5 54
38100 A LW\ /=i 8 6, 426 92 70 70 | EiFF 80,8y 7
34930 LA > 7 583 32 22 22 | A 207K
31310 A9 8 2,187 65 65 43 BIRE 401%
31500 /A3 8 2,592 65 65 65 | & 404%
31500 /M3 4 1,728 86 86 86 | LIRS 2048
32500 AoiF 2 702 38 38 32 | 1& 207K
37560 BT 1 2, 700 324 324 216 | K4y 1078y 7
30910 I5 4 via 1 292 32 32 32 IR 9%
38300 72 5 1, 890 38 38 38 El% 5048
38400 %D XFH 25 4,320 17 17 17 Rl 25048
38521 X7 LS ULE 6 3, 240 65 49 49 | 1& 6048
46000 WhH T 7 4,709 205 205 184 fg 2473y 7
46000 Wb L 1 821 205 205 205 FEIR B ARy
46007 HLIE -2 14 8, 251 194 162 108 fE 483 7
46108 X MIDEE 3 2,203 216 216 173 RS 11Xy 7
46108  SMF DR M 4 2,333 194 194 194 He 123y 7
47460 2SA Y AT 4 1,512 216 216 216 EI% 718
49100 NFF 120 20, 628 2, 484 2, 160 1,782 74 VY 10—
Y5006  E5IR (Bh4h) ” 100 30,974 3,272| 3,272 2,884 ERE 10— A
Y5006 IR (B41) 56 15, 422 198 198 178 BEVLR 80,8y 7
ot 2135 526,813
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